TACNONYGHEE  LED xTEsHEM

http://www.tachon.com AEKIR. BiF

TNC-MSL-1000-01C

Product Name F=REFR BHITEMH
Product No. F=REE TNC-MSL-1000-01C
File No. S3{HRS
Manual No. R4S A
Date HHj 2017.04.10



http://www.tacnon.com                                                   不含光源、电源

TACNONS &

http://www.tachnon.com

E§ Catalogue

miEH |
YprhEeR 2
FCitHSE EE 5
KT EBHHE 6
RICAFINE 7
PR BEIETLAL 8
KT EEEFLAL 9
SR BEIEFLAL .
FEREEFLAL )
SZERFAT )
PR ERE )

BELT )



TACNON% 6
PRI

http://www.tachnon.com




TACNON%HE

http://www.tachnon.com

1 R 1
2 FITFEA2

3 L EER2

4 FrE

> Q 5 AL
6 % BEEHE L
7 BRI IR L
8 ) RHFF2

9 RIS 14




TACNON% B

http://www.tacnon.com

G/ Hitg/F=
BTN
M13z e + iR EA+EIREB*4
10
T | BEPARIEREIRGR ISR ERE A —
@ SEERE
" FETEEIR*2 (5 )
TIRIGURES
' SERZEALIR*2 (5 )
TIRIGURES
. SERERIRE (61 )
M3*8[EILig22*8
” R B
M4*6[EISLig22*8
15 PR ER A
— M4*10BIL #1822+ 24
16 © MAE18+24
& 75 BEER
. & MA*8E5 kI 14
s F iR BE IR
M5*8[EIsLig22*8
9 PR AE IR
M3*6[ELiRLL*4
20 FERE R KIELPGI*4




TACNONYHE

http://www.tacnon.com

TR 2] Mt/ FRE

21 % SeERASEEEE2 (31 )

29 BRI HEE
_— ] MA4*40PaFRLL *8

23 _"E.“ BRI 8




TACNON% 6

http://www.tachnon.com

Bef IR EE

PHE AN

v § o

77 B )

ST ~ %
I & L\ <
7 B /
M8t A [ Sk 45 22
\' ? 1 4 i r ' . :

* 1]
]

or ek
R %/
M3%6 |5 Sk i 22

T~ § . «— AfEEE

S B I o
Sy I L L F’, g?%@%ﬁi@%
SRR — ' " |
e i) \. ?7 S GEI)
e <> e SBUER (51
ik Gt ——>' 3 P ‘
. S BpIKBL s

2 |l
& el
4.4’ T ik
R ] S 2 4 FEL VB B 55 7K 432 3 PGY
M4 1 0[5 S £ B 22 +MAY: 22 BB R 2
T~ )
e L EELB 12 o
72 T e | — i
4/%%%;\
s AR gy
M3*6 7 Sk i 22



TACNON% B

http://www.tachnon.com

=

330




TACNON% B

RYCAHAE

9218

http://www.tachnon.com

69

122




TACNON% 6

http://www.tachnon.com

FREIE AL

20
40 40
134,2 34,2
o % E;‘j.m iy g E.E&ﬂze:ﬁe
/ & o 45 @ @ 8 o 8 b @ \
® { @ - ]
& 43 ®
2 L ) L
\ o M| LU L)
1) —19 Sl =~
i N RSNk

230,7
P i
214.,2
11,2
1982
1985
S
7 T
AT
Jah
.
P
Yo
3 & @

Qj“ @ @ @& @ @ &; f Bin & @
O ¢ ;@.[] B, il [;.u,c%‘ —
95
205
300




TACNON% 6

http://www.tachnon.com

KT REEF

3/9
303,2
cc/,4
121,6
/2,8
& © ' =
I - L3
| 3
I
© ©
L———+————c—+—l——4\q<——_+—
&z
\&7



TACNON% 6

http://www.tachnon.com

FPEEFLRL




TACNON% 6

http://www.tachnon.com

FREEFLRL

21955




TACNON% 6

http://www.tachnon.com

SZERFLAL

208,35

400
330
300
200
150 2425 33
100
Pl
= ) o e—
9 = ——h— T — e} — &
= .‘;—==B / /

|l
%
N

310




TACNON% 6

http://www.tachnon.com

43P

345




TACNON% 6

http://www.tachnon.com

1.8#%4 ( Packaging material ) : (¥ : BITEEARSEM)
A : PERRE20.03(F)x200x102mm ( ZAFEECHE : YOREMRZ2, BFREIEIRZEN. BXHKE
4. BBIRERKESLPGY )
B : PERRE0.03(F)x220x190cm ( FSCREIR, FEIRSE(IR )
C : 629X495X474mmZEiE ( K=AR4g )
625X491X90mm ( ZEREA ) . 625X491X90mm ( E1k1E-B)

2.89= (QTY) : 1PCS/%&
FEE : 24.5kg
/$E : 19.5kg
A2 629mMmx495mmx474mm=0.15m3




